Exam Review
Answer Section

COMPLETION
1. ANS: -6

DIF: Average
2. ANS: 6

DIF:  Average _
3. ANS: {x|x=- N7 orxE «/7,xeR}

DIF: Average
MATCHING
1. ANS: A DIF: Average
2. ANS: C DIF: Average
3. ANS: E DIF: Average
4, ANS: D DIF: Average
5. ANS: C DIF:. Easy
6. ANS: A DIF: Easy
7. ANS: D DIF:. Easy
8. ANS: E DIF: Easy
9. ANS: B DIF: Easy
SHORT ANSWER
1. ANS:

a) g(x) = [x—4)2+3
=x2-8x+16+3
=x-8x+19

b) gix)=(x+ 2j2+1
=x+dx+4+1
=x24+dx+5

¢) glx) =[x+ -2
=224 14x4+49-12

=x% 4 142447

DIF: Average
2. ANS:



a) glx) = ~flx)

- —(x-1)"-2
b) gz} = fl-x)

= |-x+1

= |x]+1
DIF: Average

3. ANS:

a) a reflection in the x-axis, a horizontal compression by a factor of 5 and then a translation of 1 unit to the

left and 2 units down
b) a vertical stretch by a factor of 2, and then a translation of 3 units to the right and 4 units down

c) reflections in the x-axis and the y-axis, a vertical compression by a factor of 5 and then a translation of 5
units to the right and 1 unit up

DIF: Difficult +

4. ANS:
a)i)  y-ox-3
2
5
x= Ey—E
5]
T+3= ¥
dx+ 6 =15y
N
R
£ = x4 2
B 3
ii) The graph of f(x) is shown in blue and the graph of #~1{x} is shown in red.
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b) i) y=3x-22-3

x=3y-2%-1
x+3=30y-2)%
X+ 3 - (-2
3
X+ 3
s A 2
X+3
y=121t 7
Flx) =14+ x;3
ii) The graph of f(x) is shown in blue and the graph of /1{x) is shown in red.
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DIF: Difficult
ANS:

a) First, rewrite the quadratic function in vertex form.
Axl=x—4x+5

={x-dx+d-4+5

=(x-2)+1
Then, determine the inverse.
x=y-20¢+1
x—1=0p-2)2
tofx-1=y-12
dxafx-1 =y

Flini=2++x-1
b) For f(x): domain {x = R}, range {¥= 1, y € E}
For /1(x): domain {x = 1, x € R}, range {y = R}
c) The inverse is not a function because it fails the vertical line test.

DIF: Average
. ANS:
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The child travels through an arc length of % m.

DIF: Easy
7. ANS:
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DIF: Average

8. ANS:




DIF: Average
9. ANS:

2 2

guadrants 111 and 1V.This means that the angle can be found by looking for reflections of 60° that lie in these
guadrants.

quadrant 111: 180° + 60° = 240°

quadrant 1V: 360° — 60° = 300°

) . 3. : 3 . . L
Since cscB=— % snf=— £ Since smA0® = £ the reference angle is 60°. The ratio is negative in

DIF: Average
10. ANS:

o=
a= 105012}

=126
The arc length is 12.6 cm.

DIF: Average
11. ANS:
2 2 4
cusﬂ—ﬂ: —sinﬂ—ﬂ: ——ﬁ—lg
il il - 2 2

_3.1
4 4
_1
Tz

DIF: Difficult
12. ANS:



S]..'If'.l._..":".|_=£ CDSB=£
L 2
b L
iﬁ:z iB:E
T T
secA+secE=sec[E]+sec[E]
__2 .,z
NERINE
C2f3ea42
6
218 + 24012
el —
2x3-f2 +2x2403
B 6
324243
B 3
DIF:  Average
13. ANS:

The tangent ratio is negative in quadrants II and IV. In quadrant II for the domain 0° £ 8 = 1530°, G= 120° In
quadrant IV for the domain —-130% <8 <07, 8= -4a0",

DIF: Difficult
14. ANS:

BL

fi

DIF: Easy
15. ANS:

Graph fisin®x— Scosx— 2 = 0 using graphing technology.



16.

\ (1.05,0) (5.24,0) /

The zeros occur at approximately 1.0 and 5.2 or exactly % and %’E

DIF: Difficult +

ANS:

The amplitude is half the diameter of the Ferris wheel, or 9.25 m. The highest point is 18.5 + 3 or 21.5m
above the ground, so the vertical displacement is 21.5 — 9.25 or 12.25 m. The wheel rotates at a rate of 0.2
rad/s, which means it takes 5 s/rad. One full rotation of the wheel is equivalent to 2= radians. Therefore, it

will take 211:[5 %] = 10 seconds for the Ferris wheel to do one full rotation. The period is 10x.
. a1
eriod = =~
P ]
2T
10T = —
L]
i
= Tog
1
5] = <

The value of b is thus %

There is no phase shift if a cosine function with a negative value for a is used. Thus, the sinusoidal function
that models the height of the car is

=-9.25 cns[%] +12.2%



17.

18.

19.

20.

21.

DIF: Average
ANS:
Substitute t = 2.5 into the equation, since 2:30 a.m. is 2.5 hours after midnight.

[3—4)l+6

=5z 2n

12.4

= Ssin[z*.n: (2'5_4}] + 6

12.4

#2560
The water depth is approximately 2.56 m.

DIF: Easy
ANS:
a reflection in the x-axis, a vertical stretch by a factor of 2, a horizontal stretch by a factor of 8, a phase shift

of % to the right, and a vertical translation of 1 unit up

DIF: Average
ANS:
Solutions may vary. Sample solution:

The amplitude is half the diameter, or 30 cm. The maximum height of the pebble is 60 cm, so the vertical

. . |
displacement must be 30 cm. The wheel rotates at 4 revolutions per second, so the period is ri Thus, the

value of b is ETE or 8.

4

Thus, the relationship between the height of the pebble above the ground and time is
B = 30sin{Aws) + 30

DIF: Easy
ANS:
a)0.7m
2m

b) Since b =72 and period = 3 then period = %E or % s. The number of revolutions of the rope is the

reciprocal of the period, or % or 11.46 rev/s. Multiply by 60 to get 688 revolutions/min.

DIF: Difficult
ANS:



cusz—n |::|:|sE + sinz—ﬂ: sinl = Cos
q 1 q 12 )
;
= cos
kN
ra
= cos
kN
ra
= Cos
LS
R
o2
DIF: Average
22. ANS:
L5 =tan?&— gsin?a E.&.
e .
— il
cos? e 06

S8 — s Bcosd B
cog? 8
_ sn*B(1 - cos*g)
- cosla
stn? B sin? &)
cosig

= sin®Btan s

L.S.=R.S.

DIF: Average
23. ANS:

2cosx— A3 =10
2cosx = «JE

A3
2

COSX =

= CO35 T

o3

Since cosine is also positive in quadrant IV, another solution is 2m —

= sin?B tan?s

o8

= |



DIF: Easy
24. ANS:
sec’B— 2tanf—3 =10

(1+tan’8) - Ztan®-3=10
tan*6- 2tan B -2 =10
ze the quadratic formula,

C2x412
-T2
14403

m 732 or — 00732

tan g

B = tan ™ (2.732) or tan™ (—0.732)

s 707 or — 367
Since the period for tan & is 180°, a positive solution corresponding to —36° is —36° + 180° or 144°. The
general solution is 70°+ 180° and 144° + 1807, where # € 1.

DIF: Difficult
25. ANS:

. . | . . .
a) a vertical compression by a factor of 3 and a translation of 2 units to the right

b) The graph of y =3* isshown in blue and the graph of y = % ("% is shown in red.

/y/
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]
) /
/
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c) domain {xl}c R}, range (¥ly >0,y e B}, y=0

DIF: Average
26. ANS:

a) y=5"

b) y= 5?{—3

C) y= 5x+4 -1
d) y=-5"-12

DIF: Average
27. ANS:



28.

29.

30.

() ()

32?¢—2 — 31—4:u

Equate the exponents:
dn—d=1-4n

frz =3

| —

DIF: Average
ANS:

Equate the exponents:
x=1x"-1
0=2x"-x-1

O={Zx+1(x-1)

DIF: Difficult
ANS:

log, 64 + log, 27 x log, [ﬁ] = f+ 3(—4)

=f-12

=6

DIF: Difficult

ANS:

Solve the system of equations:
m-n=4" and m+n =42

m-—n=1

m+a= 16
Add these equations to find m:
2m =17

m=85



Subtract the first equation from the second to find n:
dr=15

n="T5

DIF: Difficult

31. ANS:
First solve for k.

N=H,10"

2, = W, 10

5 _ 1n2*
log2 = 25k 1og 10

log2
k=5
Solve for t when ' = 33,.

lag2
—_— ¥
25

W, = M, 10

lag2

25

i=10

log2
lng3 = [?]I

25
b= [@]1053

e 3962
It will take 39.6 years for the population to triple.

DIF: Difficult +

32. ANS:
fpi+l = -3

log(63+1) = lag(22-3)
(3x+ Dlogé = (2x— 3log2
dxlogfi+logé = 2xlog2 - 3log2
x(3loghi—210g2) = -3log2 —logh
—(3log2 +logf)

"~ 3logfi-2log2

DIF: Average
33. ANS:



34.

35.

36.

2log, x+4)—log,(x+ 12) =1
log, (x+ 4% —log,(x+ 121 =1

{x+ 4}2

—_— 1
0g, T+ 12 log, 4

(x+4j2
(x+12) ~

(x+41° = dx+ 48
x4 8x+ 16 =4x+43
x+4x-32=10
x+81x-41=10

x=-8x=4

Since x = -8 is an extraneous root, the solution is x = 4.

DIF: Average
ANS:

Rx) = flx) + glx)

—xrl+xi+3x+1

—xt 4z
DIF: Easy
ANS:
giflx)) = glcos )
- 2'205?6’_'_ 5
g(fm) = 25 + 5
=27+5
=%+5
= % or 5.5
DIF: Difficult
ANS:
3
g(2)=2-12)
=~
A-6) = (-6)* -7
=25

Fgld)) =29



DIF: Average

PROBLEM

1. ANS:
a) i) ~la) = ~[2(x-1)* - 3]
=-2x-1)"+3
i) A-x)=2(-x- 1% -3
= -0 xe -3
=2z 133
iii) —A-x) = —[2(-x— 13% - 3]
= —[2-1) (x4 1)* - 3]
= —[2(x+ 1)* - 3]

=-2(x+ 1]|2 +7
b) \ My

/
AN
/} [

i
NN

b G

"
~

c) The graphs of f(x) and f(—x) are horizontal translations of each other. This is also true of =7z} and —f{—x].
d) In both pairs, one curve is a horizontal translation of 2 units left or right of the other.

DIF: Difficult
2. ANS:
2) g() =% |2 (x+3) - 5
342
b) My
2 gt

/

H
7y




c) The reflection, horizontal stretch, and vertical compression must be done first, but can be done in any
order.
d) The translations to the left and down must be done last, but can be done in any order.

DIF: Difficult +

3. ANS:
a) domain {x=-1,x < R}, range {y =-4,¥ € R}
b) domain {x =-4,x € R}, range {¥=-1,y = R}

C) y=-2:x+1 -4
T=—d.jy+1 -4

T+d=-2.0y+1

_@= vy
T+4 ’
[—[ 5 ]] =y+1
2
[

£ = 5 (x+4) - 1
d) The graph of f(x) is shown in blue and the graph of /1(x} is shown in red.

\ Ty
A :
5
() k\.,__\
e
DIF: Difficult
4. ANS:
a) x= %y +32
9
x-32= Ty
y=2(x-132)

The inverse represents the equation to convert a temperature from degrees Fahrenheit to degrees Celsius. The
variable x represents the temperature in degrees Fahrenheit and the variable y represents the temperature in
degrees Celsius.
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c) The temperature that is the same in Celsius and Fahrenheit is —40°. This is the invariant point of the
original function and its inverse.

DIF: Average
ANS:

= (.09

i

Dy

I 10 cm!

i

First, find x.
X

0= tan 0.09

x=10tan 0.09

2 2
Aottom = TF A e

top
= x(3)? = n{i+x)”

= m{3+ 10tan 0.09)°
% 15.23n



;. {ﬂm+ﬂhm]h

2

_ [15.23“911:]“'])
2

m A8

The volume of the cup is approximately 381 cm?®, or 381 mL.

DIF: Difficult

ANS:

ZAis in quadrant Il. Therefore, only the sine ratio will be positive.
Use the Pythagorean theorem.

.?"2 =X2 +_}f2
= (-5)*+ 7
=25+ 49
=74
F= a4
. 7 5 7
Therefore, sth &4 = ———, cos b= — ——,and tan & = — —.
74 74 3

b) The quadrant in which the sine ratio is still positive, but the cosine and tangent ratios change from negative
to positive, is quadrant I. In this quadrant, all three primary trigonometric ratios are positive.

sinB=L, cnsB=i,and tanB=E.
74 - 74 E
c) Use the fact that ZB is the reference angle for ZA.

/B = sin ——

e

LB s 547
L& = 1507 - 54°

= 126°
DIF: Average
ANS:
a) Since sin 30° = é the reference angle is 30°. The sine ratio is negative in quadrants 1l and IV. Look for

reflections of the 30° angle in these quadrants.
quadrant I11: 180° + 30° = 210°
guadrant 1V: 360° — 30° = 330°

ra | —

b) Using a calculator, sin 210° = - % and sin 330° = -



8.

210° 330
% dll I . < d
- .l)': - \\Q_
\ 4 Y
DIF: Average
ANS:

a) Since the cosine ratio is positive, the angle is in quadrant | or IV.
b) If the sine ratio is negative, the angle is in quadrant V.

c)

b

d) Use the Pythagorean theorem.

23, .1
Fr=xt+y

13 = 12% 4 5°
y* = 169 144
yi =125

y=15
Therefore, a point on the terminal arm is (12, -5).
5

: 5
e) smﬂ=—ﬁ, tan & = - 1

DIF: Average
ANS:
a) Answers may vary. Sample answers:

=Y



10.

11.

12.

i) —315° and 405°

ii) —60° and 120°

iii) 240° and —240°

b) In all cases, locate the given angle on a Cartesian plane, and then identify the reference angle. Then, locate
the other quadrant where the given trigonometric ratio has the same sign as the given ratio. Then, any angle
that is co-terminal to the two angles in the diagram has the same trigonometric ratio as that given.

DIF: Average

ANS:

a) Since the point on the terminal arm lies in quadrant 111, the tangent ratio is positive, and the sine and cosine
ratios are negative.

b) The cotangent ratio is positive, and the cosecant and secant ratios are negative.

c) » = x4y
= -3+ (-6)°
= 9436

= 45

= 3.5
sinP=£ n::n:usl:'=E tanP=£
» r X
_ - _ T3 _-h
3.5 3.5 -3
2 1 =<
5 NG

d) Using the answers in part ¢), take the reciprocal of each primary trigonometric ratio to write the reciprocal
trigonometric ratios.

5
cscP=—£, seu:F‘=—«;'{§,and l:n:utP=1

Z 2
DIF: Average
ANS:
150 revolutions  150(2x)
mirnite © Al

s 1571 radfs
The angular velocity is 15.71 rad/s.

DIF: Average
ANS:

a) Solve the equation 11.6=592+ 24 cns[% (- 6}] fort.



11.6 = 9.2+2.4cns[%(§—ﬁ)}
2.4=2.4cns[%{:—6}}

1= cus[% (- ﬁ]}

T T
E(.t—ﬁ)=[lnrg(.t—ﬁj=2n

t=tort= 18
These both represent June. Sales will be 11 600 in June. Since the cosine function is equal to 1 at this point,
this is the maximum number of sales.
b) The minimum sales will occur when the cosine function is equal to —1, which occurs when

%@—®=n
t-6=6
t=12

The minimum sales are in December.
c) Yes. You would expect the most sales to occur at the beginning of summer and the least sales in a cold
month like December.

DIF: Average
13. ANS:

The domain of students’ graphs may vary. Sample graph:
Ty

. /— \
T
2
1
1 2 3 4 >,<
DIF: Average

14. ANS:



15.

16.

a

w

/ .
5 5 4 7/ -2 - \ X
/ " \
DIF: Average
ANS:
The period is 12 h 24 min, or 12.4 h.
2T
124 = ry
T
b= %2
An equation that models the depth of the water is & = 4 cns[% .t] :

At 10:00 a.m., t = 2. Substitute t = 2 into the equation.
s
i =4cos [ﬁ r]

T
¥ (2)]

=4 cos

|
The depth of the water at 10 a.m. is 2.1 m.

DIF: Average

ANS:

Solutions may vary. Sample solution:

a) The amplitude is 20 m, and the vertical displacement is 23 m. The frequency of the blades is 4 revolutions

per minute, so the period is 0.25 min or 15s. Thus, & = 1_1_‘1;-: and the sinusoidal function is

| 2x
B=20sm [ﬁ:]ﬂl



17.

18.

b) 60' h

50
P AN e N
204/ /- \

\ / : / \

/
2 \ i/
10 \ / \
/ \J \_.//
4 8 12 16 20 24 28 32 36 40 44 t

c) Substitute t = 10 into the equation.
2w
B=20sn [E:]+23

_ 2usm[21—"; (m)] + 73

w57
The tip of the blade is approximately 5.7 m above the ground att = 10 s.

DIF: Average

ANS:

a) The function y = 2 sin 2x + 2 has an amplitude of 2, a period of 180°, and a maximum of 4, but the
maximum occurs at x = 45°, For the maximum to occur at (0, 4), shift the function 45° to the left:
y=2zan [2[x+45%7] + 2

b) The function ¥ = 2 cos Zx+ 2 has an amplitude of 2, a period of 180°, and a maximum of 4 at x = 0.
c) A phase shift of a sine function of 45° to the left will create a coincident cosine function, as long as the
period of the sine function is 180°.

DIF: Average
ANS:

=]

or 120°; phase shift: 30° to the right; vertical shift: 4 units up

b) minimum: —% +4 or g maximum: %+4 or ;
c) The function does not cross the x-axis, so there are no x-intercepts.
d) Substitute x = 0 in the function:

a) amplitude: %; period: 3?



A7) = % sin[3(x — 30°7] + 4

AT = L sin[30 - 3099] + 4

S ]

stn(—20%) + 4

Mll—=

=—%+4

el -]

The y-intercept is ;

DIF: Average
19. ANS:
Lg o fosb-sm® R.S. = sec 26— tan 26
cosB+ s
1 sin2e
" cos2B  cos2e
_ 1-sin2g
"~ cosZB
_1-2snbcosH
cosB— sina
B sin® B+ cos B - 2sinBcos B
" (cosB- sin ) {cos B+ sin &)
_ [cosB-smB)(cos 8- sm )
" (cosB-sinB)(cos B+ sm e
_ cosB-zanB
cos B+ sm
L.S.=R.S.
cosE—sing
Therefore, —————— = sec 26— tan 26,
cosB+smo
DIF: Difficult

20. ANS:



21.

22.

23.

l-cos28+ smm 26

L3 =tanB

=R.S
E&5 =1-tanB
L g1 B
B cosB
_cos® —smf
cosd
=R.S.
I
s e

L5 = 1+ cos 264+ 5mm 26
1-{1-2sin°8) + 2sinBros O
1+ (2cos 8- 1)+ ZsinBoos©
_ Zsin’@+ ZsinBcos B
2cos B+ 2sinBcos B
_ 2smB(smB+ cos )
© 2cosB(snB+ cos )
_ =nf
" cozf
=tan B
L.S.
l—cos284+ smn 28
Therefore, T+ cos 20+ emi0 = tan B,
DIF: Average
ANS:
cos*B- sin@
LS = —F5—
cos“ 8+ smBcos
_ [cosB-smB)(cosB+ s
B cos Bl cos B4 sin &)
_ cosB-snB
cosf
L.S.
DIF: Average
ANS:
1 1
L5 = 1+CDSE|+ l—cos8
B l-—cosB+1+c0s8
" (1+cos8i[1-cosd)
o
- cos'B
B 2
sin* e
L.S.=R.S.
DIF: Average
ANS:



24,

25.

26.

COS2x+ 2 =smx
l-2am*x+2=smx
e+ snx—3=10

(2ethx+ 3)(sthx—-1)=10
. 3 .
SIx = ~3 of sihx=1

no solution or x = 90°
The solution is x = 90°.

DIF: Easy
ANS:
dsmtx+ Jsinix—-1=10
4sin?x— D(sin?x+ 11=0 Doade both sides by sin?x + 1 hecause it 1s always posttive.
dsindx—-1=10

. 1
=4—
snx =t

sin x is positive in quadrants | and Il and negative in quadrants Il and IV. The solution is
x =307 1507, 210°, 3300,

DIF: Average
ANS:

a) ¥= 35 00000.80y°
b) ¥ =35 000(0.80)°

= 35 000(0.50°

= 22400
The value of the vehicle after 2 years is $22 400.

c)  ¥=3500000.80)"

3000 = 35 000(0.80%°
Use systematic trial. When t = 11, V = 3006.48. Therefore, after approximately 11 years, the vehicle will be
worth $3000.

DIF: Average
ANS:

a) 4= 6D[§] , Where A is the amount of cobalt-60 remaining, in milligrams, and n is the number of half-life

periods.
b) 10.6 years equals 2 half-life periods, since 5.3 x 2 = 10.6.



e

I

=

=
—
| —
—
£

Ll
4

=15
15 mg will be present in 10.6 years.
c) 12.5% =10.125

=

i=n
It will take 5.3 x 3, or 15.9 years, for the amount of cobalt-60 to decay to 12.5% of its initial amount.

DIF: Difficult
27. ANS:
a) y=12

b) Reflect in the y-axis, compress horizontally by a factor of é and translate 2 units to the right and 6 units

-2

up.
C) Ty

-3
Pe

e

N

d) y=-222_5



28.

29.

30.

DIF: Average
ANS:

32562 % 167 = pgr-3

2
(2873 x 24% = 260-18

4:lr+E

7 F - g6x-l8

dx+ ? = fix— 18

70
~Ix=-

o B
3
DIF: Average
ANS:

22| =

Substitute V = 50 into the formula &= —EEﬁlug[ ] and solve for R.

R = 48.17

DIF: Average
ANS:

) Iy 1 IDS.IAD
a =log
4y

Af=1og 1051

Af=51
The earthquake in Norman Wells measured 5.1 on the Richter scale.




Vancouver Island amplinde 10774,

b) Morman Wells amplitude 1|]5-1Au

= 1051

g 158
The earthquake off Vancouver Island was about 158 times as strong as the earthquake off Norman Wells.

DIF: Average

31. ANS:
Let m; represent the apparent magnitude of Sirius, b; represent the brightness of Sirius, m, represent the

apparent magnitude of the Sun, and b, represent the brightness of the Sun.
s

by
a) m,—m =log I
| 2
."bl
012+ 1.5=1og I
| 2
."E:ll
1.62 =1log I
| ¥z
1D1ﬁ2=i
by
wh
— =41 49
by

Sirius is approximately 42 times as bright as the Sun.
b | —bj
m,—m,=lng
) 1 ] ‘bl

—-1.5—m, =log(1.3x101")
mg =15 1011
g m—1161
The apparent magnitude of the Sun is —11.6.

DIF: Difficult
32. ANS:



33.

34.

L &= 1
log, &

R 8 =log,a

=1+log &
logh

=T logea

| loga
N xlngf:'

=log,a
L.S.=R.S.

Thus, = log,a.

log, &

DIF: Difficult +
ANS:

L. S.=310g«,‘§+ Elugx—lug/\fr; R 8 =3logx

3 1
=logx? +logx? —logx*

3
x4 x2

=lng

1
s

3 1
= lngxa 73
= logx?

=3logx
L.S.=R.S.

Thus, 3log «J‘r; + 2logx - %lugx = 3logx.

DIF: Average

ANS:
a) Let h represent the half-life of the substance.



3

17"
140 = Z00

2

El

0.7=05"
log. 7= Ell:ngIZI 5
T=17 .
Flogh 5
TE N

bes 583

The half-life is 5.83 h.

|38
b) Graph y = 200| = :

2
y
200
180
l \v)
140
126
100
0
A\
40 \
2U \
N
2 4 6 8 100 120 140 160 180 200 X
~N
DIF: Difficult
35. ANS:

log, Jxt-gx = log, 3

Wxt-8x =3 Since the bases are the same, equate the logarithmic arguments.
x-8x=1 Square both sides.

X -gx-9=10 Express the quadratic equation in standard form.
x-9)x+1)=0 Solve for x.
x=9o0rx=-1



36.

37.

38.

Check the values for extraneous roots.
In this case, both values are possible.

DIF: Difficult

ANS:

1|:|g3«.|'x2 +48x = %
L

log(x® + 48x) . %

1 2 4

7 log{z® +48x) = 7

log(x® + 48x) = 2
log(x® + 48x) = log 100
x* +48x = 100
2 +48x-100=10
(x+5M(x-2)=10

r=—50orx=2
Check the values for extraneous roots.

In this case, both values are possible and solve the equation, so they are both valid.

DIF: Difficult
ANS:

For the first 5 years, the investment is compounded monthly for a total of 5 x 12, or 60, periods.

A =13 000(1 + 0.0065)™
= 26 552.12

Solve for the remaining time—compounded daily for n years is 365n periods.

35w
0.05
35 000 = 26 552.12[1 + ﬁ]
35000 (365057
2655212 | 365
35 000 365.05
l'jg[zﬁ 552_12] - 355”1'35[ 365 ]

e 553
Bruce will need invest for approximately 5.5 more years.

DIF: Difficult
ANS:



kix)=(x+ 1]2+3|:x+ 1j+2

s S N R P B

R
DIF: Average
39. ANS:
Bix) =
) 1 —sinx
1
CDSEX
= SEEEX
DIF: Average
40. ANS:

A = gflx)

fx+ 1) = g[ 7 |

el = afx 41
(451) = ()

x+l=x+2-x+1

0= 2%

x=10

2

DIF: Difficult



